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Important Instruction to Examiners:-

1) The answers should be examined by key words & not as word to word as
given in the model answers scheme.

2) The model answers & answers written by the candidate may vary but the ¢
examiner may try to access the understanding level of the candidate.

3) The language errors such as grammatical, spelling errors should not be given
more importance.

4) While assessing figures, examiners, may give credit for principle components
indicated in the figure. The figures drawn by candidate & model answer may
vary. The examiner may give credit for any equivalent figure drawn.

5) Credit may be given step wise for numerical problems. In some cases, the
assumed contact values may vary and there may be some difference in the
candidate’s answers and model answer.

6) In case of some questions credit may be given by judgment on part of
examiner of relevant answer based on candidates understanding.

7) For programming language papers, credit may be given to any other =
programme based on equivalent concept.

Important notes to examiner
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(Autonomous)
(ISO/IEC - 27001 - 2005 Certified) Page No [5\/ 4 9
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3 | Attempt any Four 16
a) A simply supported beam of span Sm carries a point load of 40KN at 3m from left i

support. Calculate the slope and deflection under point load in terms of EL Use
Macalay’s Method.
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R (Autonomous)
4 (ISO/IEC - 27001 - 2005 Certified) Puye No LY /43

Slmply supported beam of span 6m carries a pomt load of 60KN at 4m from .left |
support. Find the value of slope under the load. Take EI=7800KNm>,
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moments.

MAHARASHTRA STATE

-

(Autonomous)

(ISO/IEC - 27001 - 2005 Certified)

A uniform beam of 6m ;paﬁ is fixed at A & B. It carries a u.d.l of 3KN/m over
entire span in addition to a point load of 6KN at 4m from B. Calculate fixed end

BOARD OF TECHNICAL EDUCATION

Im

Vi




MAHARASHTRA STATE BOARD OF TECHNICAL EDUCATION
Kk (Autonomous)
(ISO/IEC - 27001 - 2005 Certified)

: M)
A fixed beam of span 6m carries a udl of 20KN/m over entire span. Find fixed end
moments from first principle.
A
¥ M

'
i
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MAHARASHTRA STATE BOARD OF TECHNICAL EDUCATION

" (ISO/IEC - 27001 - 2005 Certified)

g (Autonomous) pq_:st Hg 1_3 / ‘{_S

A continuous beam ABC is supported on three supports at same level
AB=BC=4m. Both span carry central point load of 100KN each. Calculate
moment at B using theorem of three moment and draw BMD. Giving only net
BMD.

M

b)

State Clapeyorns theorem of three moment for same EI and dlfferent EI and st;lte

meaning of each term involved using neat sketch.
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MAHARASHTRA STATE BOARD OF TECHNICAL EDUCATION

- (ISO/IEC - 27001 - 2005 Certified)

ot e (Autonomous) Pag ¢ Na a0 th

‘A continuous beam ABC is simply supported at A,B,C such that AB=BC=3m.
Span AB carries a u.d.l of SOKN/m from A to B. Span BC carries a point load of

30KN at 1m from C. Calculate support moments at B using three moment thorem.

F:

IM -

M

IM

d)

Find the moments at A,B,C fora continuous beam as shown in fig. below my

moment distribution method. f




MAHARASHTRA STATE BOARD OF TECHNICAL EDUCATION

e (Autonomous) 2
2 (ISO/IEC - 27001 - 2005 Certified) PCUl C N 0 3]

e
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Determine the distribution factors at .c.m\itinity for a continuous beam A-B-C-D
which is fixed at A and supported over B,C and D. Take AB=4m, BC=4m and

CD=5m. Assume same MI for all span. '
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